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Speed bumps

g
. 38-28=10
= Itfalls from 38 to 28

23[16] 8 Correct response Additional guidance
a|a|2m| Completes both sentences correctly, with all 1 Throughout the question, key not interpreted
four values in the correct positions, ic eg, for the value 46
« 46
46 Penalise only the first occurrence
12
35
3
1m| Gives at least two values in the correct
positions
Shows the values 46, 12, 35 and 3, even if their
positions are incorrect
b|b Gives a correct justification  Minimally acceptable justification

g
* 38 and 28 identified, with no evidence of
an incorrect method

1 Ambiguous notation
€
+28-38
Condone

% Incomplete or incorrect justification
L

* The difference between the middle
numbers before and after is 10

* Indicates both values of 8 corresponding
to the units of 38 and 28 on the diagram,
but with no interpretation of the key

* Before the median was 39,
after the median was 29, so it fell by 10
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Speed bumps

Correct response

Additional guidance

2m | Completes both sentences correctly, with all
four values in the correct positions, ie

46
12
35
3
1m | Gives at least two values in the correct
positions

Shows the values 46, 12, 35 and 3, even if their
positions are incorrect

Gives a correct justification
g

. 38-28=10

= Itfalls from 38 to 28

! Throughout the question, key not interpreted
eg, for the value 46
.46
Penalise only the first occurrence

 Minimally acceptable justification
e
* 38 and 28 identified, with no evidence of
an incorrect method

1 Ambiguous notation
€
+28-38
Condone

% Incomplete or incorrect justification
L

* The difference between the middle
numbers before and after is 10

* Indicates both values of § corresponding
to the units of 38 and 28 on the diagram,
but with no interpretation of the key

* Before the median was 39,
after the median was 29, so it fell by 10
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Thinking distances
Correct response Additional guidance

35

Shows the value 245
o

Shows a complete correct method, in which the
‘squared’ has been correctly interpreted, with not
computational eror

. mgn
* 70° = 4900, 4900 + 20 = 2450 (error),
Loyt
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Mark

2m

Correct response

Gives a correct justfcation that the average speed

is 20km per hour

e

« Tk at 15km/h takes 60 + 15
Tkm at 30km/h takes 60 + 30
2km in 6 minutes = 20k in 60 minutes

2o g hour = 20kmin 1 howe

Shows or imlies that the journey time up the hll was
4 minutes or equivalent, and the journey time down
the hillas 2 minutes or equivalent

o 1km at 15km per hour takes
60+15 = 4 mins,
Thm at 30km per hour takes
60+30=2mins

6 mins for 2km, so its 60 mins for 20km which is
20km per hour

1 For 1m, total of 6 minutes or equivalent seen
As the total of 6 minutes can be calculated
from the given 20km per hou, do not accept as
implying 4 minutes and 2 minutes unless a correct
methad is also seen
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Thinking distances
e At s

15

Shows the value 245

Shows a complete correct method, in which the
“squared has been correctly interpreted, with not
more than one computational eror

0 Bz

o704 220

707 = 4900, 4900 + 20 = 2450 (error),
70+ 2450 = 2520

50
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Mark Correct response Additional guidance

m  Gives a comrect explanation ¥ Minimally acceptable explanation
e )
 40km in &Omins. . 0-40-15
Thm in 60 + 40 = 1.5mins . 015-20
 Imin 30secs for fhm . 20-60x15=1
3mins for 2km .
80mins for 40kom. Conceptual error.
* Imin 0secs = 1. Smins. 9

ey gy s
« Timinsomea
90 x 40 - 3600
3600secs = 60mins
« tOkmvhis fmmin
Fx et
© 60km at 40km/h = The 30mins
T Bmin + 60 1min secs
© &0kmvh is 1min for Tkm
20kmvh is 3mins for Tkm
40kmv/h is 1min 30secs for Tkm

B m o
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3508 Kilometre
Mark Correct response. Additional guidance

Gives a corect explanation ¥ Minimally acceptable explanation
o9 L
* 40kmin @Omins © 60+40-15
Tk in 60 + 40 = 1.5mins. © 60+15-40
* min 30secs for Tkm © 40+60x15-1
3min for 2km "
&0mins for 40km Concoptual error
« Imin 30secs = 1.5mins e
0+15-40 . 40x15

+ lmin0secs
20w 40- 340
30sacs - 60mins

+ 40k femin
Fxthetim

[ —
e Smin + 60 Imin 0secs

® 60km/h is 1min for Tkm.
20kmihis 3mins for Tk

40kmvhis Tmin 0secs for tkm
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Journeys

Correct response.

Indicates 60 mies per hour or
1 mile per minute

Indicates 30 milks et hour or
4 mileper minure

‘Additional guidance
 Equivalent ractions or decimals

Ty otk e b
o
or miles per minute but some or all of the
ol
ooy SN

030,400 1, . 21 e

1 correct unitsare shown once within the
question condonc other omisons.
Orherwise withhold only the fiest mark
that would otherwie have been awarded
e for parss (), (b) and (c)respectively
* 60, 30mph Mark as 1 11,1
50 feror) 30,40 Mark 25 0 0: 1,1
* 60,30, 45 ferror)  Mark 25 0 1:0,0

Note that the marking of thee last o
sssumesthe s o woeking shown
that might allow partal credit for part (0]

1 Uncomventional expression or
abbrervation of unis

‘Accept provided unambiguous and
expressd as 2 uniary rte,incloding the
e of m for miles

e for part (a), ccep

" 1 per min

* 60 miles each hour

1 ambiguous, mark as i units omitted
e for part (6]

0.5 mpen

Incorrect wnits
e for part fa)

L mph

Mark a if uniesomitied

Rate of travel expresid as time per wnit
distance
@

* 1 mimute per mile (part (a))

2 minutes per mie (pae (b))

1.5 minuces per mle (part ()
1 the values shown are as above and
orect unicsare shown at least onc,
mark a5 0;0; 1, 1
Otherwise do not accept

x Now-wnitary rates
s for part (b)
* 1 mile every two minues
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Correct response

‘Additional guidance’

P [ —
£ mieper minte

im | Shows or implie 3 complete correct methnd
for calculating the speed in miles per hour or
miles per minute
«

. 20430x60
e 20x2
s 2013

ndicates  correc spcd in ik per i,
T o e 0 o dconl
=
s 0. i pe e

.7 e o e

Note to markers
Apply the additonal g
and {b) o part (0]

Ao gion in s por minate and
pomerd oyt

Inthis context, accept rounding or
truncation to o or more decimal places
For 2m, do not sccept an answer of 0.6 or
0.7 nlessa correct method or 8 more
accurate value i sen

e from parts (]

 For 1m, method leading to ate o travel
astime per disance

«
Y0420

 For 1, incomplete metbod
&

* 20 miles in 30 minutes, 50
2 miles per 3 minutes
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Correct response

Additional guidance

ala Indicates 60 miles per hour or
1 mile per minute
b|b Indicates 30 miles pee hour or

1
mile per minute

/ Equivalent fractions or decimals

t Throughout the question, pupils
unambiguously working in miles per hour
or miles per minute but some or all of the
units are omitted
Atleast 2 of the 3 correct values

(ie 60, 30,40 or 1, 3, ) must be shown.

If correct units are shown once within the
question condone other omissions.
Otherwise withhold only the first mark
that would otherwise have been awarded
eg, for parts (a), (b) and (c) respectively
60,30mph, 40 Mark as 1; 151, 1
* 50 (error), 30,40 Mark as 03 0 1,1
+ 60,30, 45 (error) Mark as 03 1.0, 0

1, 4,15 error)  Mark as 0; 10,0
Note that the marking of these last two
examples assumes there is no working shown
that might allow parial credi for part (c)

Unconventional expression or
abbreviation of units
Accept provided unambiguous and
expressed as a unitary rate, including the
use of m for miles
eg, for part (a), accept

 1m per min

* 60 miles each hour
If ambiguous, mark as if units omitted
eg, for part (b)

+ 0.5 mpm

t Incorrect units
eg, for part (a)
« 1'mph
Mark as if units omitted

Rate of travel expressed as time per unit
distance
&
* 1 minute per mile (part (a))
2 minutes per mile (part (b))
1.5 minutes per mile (part (c))
1f the values shown are as above and
correct units are shown at least once,
mark as 0; 0; 1, 1
Otherwise do no accept

% Non-unitary rates
eg, for part (b)
* 1 mile every two minutes
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Journeys (cont)

Correct response

‘Additional guidance

Indicates 40 miles per hour or

2
2 mile per minute

Shows or implies a complete correct method
for calculating the speed in miles per hour or
miles per minute

©

= 20430x60

. 20x2

. 20430

Indicates a correct speed in miles per minute,
rounded or truncated to one decimal place
e

= 0.6 miles per minute

= 0.7 miles per minute

Note to markers:
Apply the additional guidance from parts (a)
and (b) to part (c)

1 Ansuwer given in miles per minute and
rounded or truncated
In this context, accept rounding or
truncation to two or more decimal places.
For 2m, do not accept an answer of 0.6 or
0.7 unless a correct method or a more
accurate value is seen

X For im, method leading to rate of travel
as time per distance
s
+30420

 For m, incomplete method
e
+ 20 miles in 30 minutes, s0
2 miles per 3 minutes
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[rer  Question

Journey

b oo oo
147

Correct response

Additional guidance

m

2

. 1
Shows the journey time s 2. (hours)

Shows a complete correct method

eg
. 6025
= 60+ (100 = 40)
. 60x2:5
. 40x06
3 3
= 60=30f 100,50 3 of 40

“The only error is to misread A for B, giving an

2
answer of 662

Answer given as a decimal
Accept 66.7 or 66.6 or 66.6(...)

Do not accept 67 unless a correct method or
2 more accurate value is seen
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Journey
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Correct response

Additional guidance

u

Shows the journey time is z% (hours)

Shows a complete correct method.
e

60425

60 + (100 + 40)

60x2+5

40x06

=32 0£100,50 2 of
60= 2 of 100, 50  of 40

“The only error is to misread A for B, giving an

2
answer of 662

! Ansuwer given as a decimal
Accept 6.7 or 6.6 or 66.6(...)
Do not accept 67 unless a correct method or
2 more accurate value is sen





